11,/7 /22

DATE

J

AJ

B

BY

BUILDER / CONTRACTOR IS RESPONSIBLE FOR ENSURING THAT PLANS AND SPECIFICATIONS COMPLY WITH BUILDING MANUFACTURER ASSUMES NO RESPONSIBILITY FOR ANY LOADS TO STRUCTURE NOT INDICATED FIELD CUTTING OF STRUCTURAL, SHEETING AND TRIMS FOR SPLICE AND FINAL FITTING OF COMPONENTS 1 |LEAD SHEET, GENERAL NOTES, SCHEDULES, KEY PLAN
APPLICABLE REQUIREMENTS OF ANY GOVERNING BUILDING AUTHORITY. AT THE TIME OF PURCHASE. ANY ALTERATIONS TO THE STRUCTURAL SYSTEM, REMOVAL OF ANY IS REQUIRED. 2 |SLAB PLAN, ELEVATIONS
COMPONENT PARTS OR THE ADDITION OF OTHER CONSTRUCTION MATERIALS OR LOADS MUST BE DONE 3 |[FLOOR PLAN, FRAMING PLAN
METAL BUILDING STRUCTURE DESIGNED PER THE FOLLOWING LOADING: UNDER THE DIRECTION OF REGISTERED ARCHITECT, CML OR STRUCTURAL ENGINEER. ALL ROOF PANEL LAPS SHALL BE SEALED WITH 3/8” (MINIMUM) WIDTH MASTIC TAPE AS PROVIDED FOR 2 [PARTITION PLAN. ROOF PLAN
PROJECT. ALL SHEET PROFILE FOAM CLOSURES AT EAVE, WALL AND RIDGE CONDITIONS AS PROVIDED :
CODE: 1BC 2018 ALL CONCRETE AND MASONRY CONSTRUCTION MUST BE FLAT, LEVEL AND SQUARE PER THE SLAB PLAN FOR PROJECT MUST BE INSTALLED AS SHOWN HEREIN. S5 |DETAILS
WIND: 105 MPH EXPOSURE C WINDLOAD DIMENSIONS HEREIN.
ROOF LIVE LOAD: 20 PSF ROOF LIVE LOAD 6 |DETAILS
: WALL PANELS AND WALL TRIMS, AT INTERIOR AND EXTERIOR, ARE TO BE SET WITH 1/4” CLEARANCE > TDETAILS
SEISMIC DESIGN CATEGORY (SDC): C / SEISMIC COEFFICIENT: 0.32 ALL JOBSITE DIMENSIONS AND CONDITIONS SHALL BE FIELD VERIFIED BEFORE ERECTION OF BUILDING ABOVE CONCRETE SURFACES AND AT ANY LOCATIONS WHICH MAY BE SUBJECTED TO CONTACT WITH
GROUND SNOW LOAD: 10 PSF (MAX) GROUND SNOW LOAD STRUCTURE. STANDING WATER. 8 |DETAILS
ROOF SNOW LOAD: 8.4 PSF (MAX) ROOF SNOW LOAD
: (MAX) ALL OMISSIONS, CONFLICTS AND DISCREPANCIES SHALL BE REPORTED TO THE BUILDING MANUFACTURER .
COLLATERAL LOAD: 0.5 PSF (MAX) COLLATERAL LOAD ALL OMISSIONS, CONFLICTS AND DISCREPA LAP ALL FLASHINGS 2” MINIMUM AND SEAL AS REQUIRED FOR WATER TIGHTNESS
DESIGN LOADS DESIGNATED WITHIN CONTRACT AND DRAWINGS DO NOT ALLOW FOR ANY TYPE OF »
SUSPENDED SYSTEM (E.G. LIGHTS, INSULATION, DUCT WORK. PIPING, ETC.) GREATER THAN THE ALL TEMPORARY SUPPORTS SUCH AS GUYS, BRACES, FALSEWORK, CRIBBING, WINDBRACES OR OTHER ALLOW 1/4" TOLERANCE AT EACH END FOR HEADERS AND GIRTS.
COLLATERAL LOAD SHOWN. SUSPENSION OF ANY LOAD INDUCING SYSTEM GREATER THAN 0.5 PSF ELEMENTS REQUIRED FOR THE BUILDING ERECTION ARE TO BE DETERMINED BY AND SUPPLIED BY
IS EXPLICITLY PROHIBITED UNLESS A CORRESPONDING REDUCTION IN CERTIFIED LIVE/SNOW LOADS CAN BUILDER/CONTRACTOR.
BE PERMITTED BY CODE. BUILDING MANUFACTURER HAS MADE A COMMITMENT TO MANUFACTURE QUALITY BUILDING COMPONENTS
OF THE BUILDING MANUFACTURER. WEDGE ANCHORS SUPPLIED WITH THE BUILDING PACKAGE ARE THE RESPONSIBILITY OF THE BUILDER/CONTRACTOR.
SUITABLE FOR MOST SELF STORAGE APPLICATIONS HOWEVER, THE FINAL FOUNDATION DESIGN (DEPTH, ALL COMPONENTS SHIPPED SHALL BE THOROUGHLY INSPECTED AND ACCOUNTED FOR AT THE TIME OF
STRENGTH, MIX, ETC. ) WILL DETERMINE ACTUAL ANCHOR REQUIREMENTS. DELIVERY. ALL MATERIAL SHORTAGES OR DEFECTS MUST BE REPORTED WITHIN FIVE (5) WORKING DAYS
BUILDING MANUFACTURER ASSUMES NO RESPONSIBILITY FOR CONCRETE SLAB FOUNDATION DESIGN, OF MATERIAL DELIVERY TO THE BUILDING MANUFACTURER.
THICKNESS, MATERIALS, SITE SOIL CONDITIONS OR OTHER CONCRETE/MASONRY CONSTRUCTION. THE DIAPHRAGM SUPPORT OF THE INTERIOR PARTITION PANELS CONTRIBUTE TO THE STABILITY OF THE
BUILDING BY TRANSFERRING LATERAL LOADS TO VERTICAL RESISTING MEMBERS. ANY MODIFICATION OR
ALL STRUCTURAL CONNECTIONS ARE TO BE MADE PER FASTENING DETAILS PRESENTED HEREIN. ALL
STEEL FRAMING AND SHEETING MATERIALS MUST BE INSTALLED TO VERTICAL PLUMB AND HORIZONTALLY AFASNIZED, CUTTING OF INTERIOR PARTITION PANELS 1S EXPRESSLY PROHIBITED BY THE BUILDING
LEVEL. :
THE BUILDING MANUFACTURER AND THE PROFESSIONAL ENGINEER SEALING THESE DRAWINGS ARE NOT
THE PROFESSIONAL ENGINEER OF RECORD FOR THE ENTIRE PROJECT. THE PROFESSIONAL ENGINEER'S
SEAL PERTAINS ONLY TO THE STRUCTURAL DESIGN OF THE METAL BUILDING SYSTEM. IT DOES NOT APPLY
TO THE FOUNDATION SYSTEM, MASONRY DESIGN OR ANY OTHER ASPECT OF THE PROJECT UNLESS
SPECIFICALLY STATED IN THESE DOCUMENTS.
B 150’—0" STEEL DIMENSION N
(15) 10'—0" BAYS
@% (GU)20°—4" (GU)20°—4" (GU)20'-4" (GU)20°-4" (GU)20°-4" (GU)20°—4" (GU)20°—4" (cu)10°-2” %@
2le  (emro-2” (EF)10°'=2" (EF)10'-2" (EF)10°'-2" (EF)10°'-2" (EF)10°'-2" (EF)10°'-2" (EF)10°'=2" (EF)10°'=2" (EF)10°'=2" (EF)10'-2" (EF)10°'=2" (EF)10'—2" (EF)10°-2" (ER10-2" Llg
[ ] T T T T T T T T T T ]
| | | | | | | | | | >
| | | | | | | | | | = /\
| | | | | | | | | | "
s | | | | | | | | | | . 3 o
i | | | | | | | | | | i < S
= o | | | | | | | | | | 0 ol =z
O - | | | | | | | | | | e Z| © N
21 »n = | | | 0 N I (N N IS AU A N IS SNSUN IS SN A IS SN N N VU S N (S U O AN IS I N N N SN (N S A N N R B | 2 -
X | | | | | | | | | | Z ~
=| 5 ! ! ! ! ! ! ! ! | | S >
5 | | | | | | | | | | 5 L
2 — | | | | | | | | | | .
iR er-——-{--+--+r+-—4—t——-tr--H-—-+-—-t+—-— —-1-——t—-——4—-+—-——+—-—- | | | | | | g i A -
I | | | | | | | | | | o |
= =
5l L | | | | | | | | | | zl & \ 2/ —
N ! ! ! ! ! ! ! ! ! ! @l !
o| © . | | | | | | | | | | ) R o S
1 Yl ~ | | | | | | | | | | ¥ @ 7
o Y | | | | | | | | | | b - o ~
M =l B | | | | | | | | | | = Ql ™ -
a4 (v’ | | | | | | | | | | o
~ @ T T T T T T T T T T ~— ~
=S | | | | | | | | | | S
1) | | | | | | | | | | \/
| | | | | | | | | |
| | | | | | | | | |
A \ | | | | | | | | | | \
ma  (EF)10'-2" (EF)10'-2" (EF)10'-2" (EF)10'-2" (EF)10'-2" (EF)10'-2" (EF)10'-2" (EF)10°-2" (EF)10°-2" (EF)10°-2" (EF)10'-2" (EF)10°—2" (EF)10'=2" (EF)10°=2" (ERMN10-2" B
8l& (6U)20°-4" (6U)20°-4" (GU)20'-4" (GU)20'-4" (GU)20'-4" (GU)20'—4” (GU)20'—4” (cuy100-2"  &|8
~| o=
(15) 10'=0" BAYS
150°—0" STEEL DIMENSION
scale—1/8" = 1-0"
PURLIN ABBREVIATIONS CLOSURE_NOTE:
(100) INSIDE CLOSURES INCLUDED FOR LOW EAVE.
(P4) — Z42516R 2 1/2 X 4 X 2 1/2 X 16GA. ZEE — ROOF PURLIN INSTALL BTR TAPE ON TOP AND BOTTOM OF INSIDE
ERECTOR NOTE: CLOSURE (SEE DETAILS AND INSTALLATION GUIDE)
A DETAILED INSTALLATION GUIDE IS AVAILABLE AND SHOULD BE (20) INSIDE CLOSURES INCLUDED FOR BASE OF
CONSULTED DURING THE ERECTION OF THIS BUILDING PACKAGE. EXTERIOR WALL PANELS.
PLEASE CONTACT US IF YOU HAVE NOT RECEIVED A COPY OF
STANDARD ABBREVIATIONS FASTENER ABBREVIATIONS THE INSTALLATION GUIDE AND ONE WILL BE PROVIDED TO YOU. (20) OUTSIDE CLOSURES INCLUDED FOR RAKE.
A EROX Aooms s MSHED FLOOR e EOoT R FEET REND RERIRED D (F1) —1/2° X 2 3/4” CONC. EXPANSION ANCHOR  — BASE TO SLAB CONNECTIONS
8L0C  BUILDING CA  GAUGE RO ROUCH OPENING (F2) =12 X 1 SELF-DRILLING TEK (PLTD) - STRUCTURAL STEEL CONNECTIONS 4" _STRUCTURE ABBREVIATIONS SHEETING ABBREVIATIONS TRIM_ABBREVIATIONS
BLK  BLOCK CALV  GALVANIZED SECT  SECTION F2) —12 X 1 SELF-DRILLING TEK (PLTD — PARTITION SHEETING
BOT BOTTOM GC  GENERAL CONTRACTOR SF  SQUARE FOOTAGE (F2) (PLTD) (BA) — B4216Z 4 X 2 X 16GA. ANGLE —  FLOOR BASE ANGLE (ML) — 29GA. M—LOC WALL PANEL (BTR)  — 7/8” ROLL MASTIC (IN) = R PANEL INSIDE CORNER TRIM
c/L CENTERLINE GRND GROUND SIM SIMILAR (F4) —12 X 2 SELF—DRILLING TEK (PLTD) — PARTITION ANGLE CONNECTIONS
(BC) — U42516Z 4 1/8 X 2 7/8 X 16GA. CHANNEL — FLOOR BASE CHANNEL (RL) — 29GA. R—LOC WALL PANEL (87 — BASE TRIM (JA) — DOOR JAMB TRIM
CLG CEILING GR ~ GRADE SQ  SQUARE (F5) —12 X 1 1/4 WASHER TEK (PTD) — EXTERIOR WALL SHEETING (C4) — C4216R 4 X 2 X 16GA. CEE 4" COLUMN
coL COLUMN GWB  GYPSUM WALL BOARD STD  STANDARD . (PL) — 29GA. PANEL—LOC WALL PANEL (CLIN) — R PANEL INSIDE FOAM CLOSURE (JC) — DOOR JAMB COVER TRIM
CONC ~ CONCRETE HORIZ HORIZONTAL STL  STEEL (F6) —12 X 1 1/4 WASHER ZAC (PTD)(PLTD) — ROOF SHEETING (C425) — C42516R 4 X 2 1/2 X 16GA. CEE — 4" COLUMN RR 26GA. PBR ROOF PANEL
DBL DOUBLE INSUL INSULATION TOC TOP OF CONCRETE (C435) — C43516R 4 X 3 1/2 X 16GA. CEE - 4 COLUMN (RW) — 26GA. PBR WALL PANEL
DIA DIAMETER INFO  INFORMATION TOW TOP OF WALL (F9) —12 X 7/8 WASHER ZAC (PTD)(PLTD) — ROOF PANEL LAP (DJ) — C43516R 4 X 3 1/2 X 16GA. CEE — DOOR JAMB (CL1g) - fg?Aéo%EFNTFf{:,\ILE_LLOC SSR (DK) — DOWNSPOUT WITH KICK OUT (0U) - R PANEL OUTSIDE CORNER TRIM
BmG BME%N mx &%LUM %Srp wEI%AETEEL (F10) — 12 X 7/8 WASHER TEK (PTD) — EXTERIOR TRIM LAP (EC) — U42514R 4 1/8 X 2 3/8 X 14GA. CHANNEL — EAVE CHANNEL (CL24) — 24GA. CENTRAL_LOC SSR (DSS)  — DOWNSPOUT STRAP (PB) - PEAK BOX
DR DOOR MIN  MINIMUM UNO UNLESS NOTED OTHERWISE (F11) — 1/8 POP RIVET — EXTERIOR TRIM (ES) - EB4316LR 4 X 6 X 3 X 16GA. STRUT — EAVE STRUT 24” ROOF PANEL (EF) — EAVE FLASHING (REND) — RAKE TRIM END CAP
EA e ATION MISC MISCELLANEOUS VA (F13) — 12 X 1 1/4 WASHER TEK (PTD) — INTERIOR WALL SHEETING (FC) — AS MANUFACTURED — FLOOR CLIP (FRC) - FORMED RIDGE CAP (RT) — RAKE TRIM
EL (G) — C4216R 4 X 2 X 16GA. CEE — GIRT
EXIST  EXISTING NIC  NOT IN CONTRACT VIF  VERIFY IN FIELD (F13) =12 X 1 1/4 WASHER TEK (PTD) — INTERIOR TRIM DRILLER (GE) — GUTTER END CAP T — ROOF TIE IN TRIM
EXP EXPANSION NTS  NOT TO SCALE WO WITHOUT (HA) — B4216R 4 X 2 X 16GA. ANGLE —  HALL TOP ANGLE
EXT EXTERIOR NA  NOT APPLICABLE WT  WEIGHT (F14) =12 X 7/8 WASHER TEK (PTD) — INTERIOR WALL PANEL LAP (HR) — C4216R 4 X 2 X 16GA. CEE — DOOR HEAD REINFORCEMENT (GEOCEL) — SEALANT (TR) — ROOF STEP TRANSITION FLASHING
EIFS  EXTERIOR INSULATION NO  NUMBER (F14) =12 X 7/8 WASHER TEK (PTD)(PLTD) — INTERIOR TRIM LAP (JR) — C62514R 6 X 2 1/2 X 14GA. CEE — RAFTER (GS) — GUTTER HANGER STRAP (UN) — FLAT RIDGE CAP
cos éB‘gEF'ONF'SgLEgSTEM 8é 8\1\/IE%?E|?\|I_TER (F17) = 1/4"=14 X 1” SDS W/ WASHER #1(PLTD) — "CL” CLIP/STRUCTURE CONNECTIONS (M) — C12416R 12 X 4 X 16GA. CEE — DOOR MULLION (GU) —  GUTTER (4SP) — 40Z. TOUCH UP SPRAY PAINT
FBO FURNISHED BY OTHERS OH OPPOSITE HAND (F18) - 1/4"—14 X 1 1/4" SDS ZAC W/WASHER #1E(PTD)(PLTD) — "CL"” ROOF DRILLER (MC) — B5216R 5 X 2 X 2” LONG 16GA. ANGLE — MINI CLIP (Hc) — DOOR HEAD COVER TRIM
FDN FOUNDATION OPP  OPPOSITE (F19) — 14 X 7/8" SDS ZAC W/ WASHER #4(PTD)(PLTD) — "CL” ROOF LAP (PA) — B4216R 4 X 2 X 16GA. ANGLE —  PARTITION ANGLE HE — DOOR HEAD TRIM
FF FINISHED FLOOR PTN  PARTITION . ” n (HE)
om FACE OF BLOCK OR BRICK RAD  RADIUS (F20) — 1/4"=14 X 1 1/4” SDS ZAC W/WASHER #1E(PTD)(PLTD) — "CL” TRIM DRILLER (RA) — B4216R 4 X 2 X 1B6GA. ANGLE —  RAKE ANGLE (HI) — HIGH EAVE TRIM
FOS FACE OF STEEL REF  REFERENCE (F21) — 14 X 7/8” SDS ZAC W/WASHER #4(PTD)(PLTD) — "CL” TRIM LAP (RS) — EB4316LR 4 X 6 X 3 X 16GA. STRUT — RIDGE STRUT

CONSTRUCTION

PRINTS

ISSUED FOR

\,

THESE DRAWINGS ARE THE SOLE AND EXCLUSIVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,
PRIVILEGED, AND CONFIDENTIAL INFORMATION CONTAINED

DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE

BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS STRICTLY PROHIBITED. THESE
PROJECTS WITHOUT WRITTEN PERMISSION FROM THE
BUILDING MANUFACTURER. THIS DOCUMENT AND ALL

CONFIDENTIAL AND PROPRIETARY INFORMATION
IN THESE DRAWINGS MAY ONLY BE USED FOR ITS

COPIES MUST BE RETURNED UPON DEMAND.

J/

\,

O\
© M)
| N
0@ ™~
==
O O O
|_|_| -
Ol=|=
—
OO
Diﬁo o
ol |9 <
> | — O
g—
D) -
N O
)
o
(q\]
n 2
E:(\I
8?3
28>
O @ ®
N 35—
oo =
€ O3
= O o
'5:_(.')00
=90 5
S 0w ¢
megEQoGS
0885
°39
<
o
o
(4p)
(4p)

J/

DWG #22-43050—CL1

7~

Sheet

N\

T of O




NOISNINWIQ avis .£—.0¢

BEIRT Ad 404 d3NSSI SINIYd f "ONVW3A NOdN Q3IN¥NL3Y 38 LSNN S3Id0D ( ¢ JOLUD 1 ( 6££8-1¥2-008 :9uoud 1( =] 1(
TV ANV INJAND0A SIHL "d3dNLIVANNYA ONIdTING . O
cz/L/\) || rvE NOILONHILSNOD 3HL WOM4 NOISSINYId NILLM LNOHLM SLO3rO¥d N m mPJ N N Q Z U uf m Z2600¢ e1bioan) ‘ssoIoIoN z o 00
AT LONYLSNOD OL d3Isn 38 LON AVA SONIMYHd .
3STHL "ALIGIHONd ATIONMLS SI SNOSY3d QIZIMOHLNYNN : Z O _\_r<Q Ol_ L0Z d)NS "peoy abpug quodloH 00EE 3 QO
OL SONIMVHYA 3JS3IHL 40 3d4NSOTOSIA IHL “LI43N34 M “4—
SL Y04 3sn 38 ATNO AVA SONIMYMA 3S3HL NI swajsAg bBuipjing ooy ¥ O O
A3NIVINOD NOILYWHOANI VIINIAIANOD ANV ‘a39TTIAINA
‘JAILISNIS ‘YIMNLOVANNYN ONIQTING JHL 40 ALY3IdOdd @ - w VA O m _\ VA O m ﬂ -
JAISNTOX3 ANV F10S FHL FdV SONIMVEA FSFHL = S
: o QN
NOLLYWHOANI ANVL3INdOdd ANV TYILNIAINOD 1 O947MOMd =
\ J \ \, J \ J/ an 7 \
- NOISN3NId 8v1S &—.0¢ -
. I
|—— N (@) —
2/ 6 5 2/l 6
=z
Tl
o=
s LW
, S ,
~ — ~
> _= > |
i :@l.m :@l.w
o mm o w ui W
[ o [
— _ | Lp/2 9-8(00) "T /s 9-8(n0)
|
_ J/8 9= L(MY) .0—.L(ZLND) J/E 9= 1(MY) W +0—.L(ZLWD)
| Ao e
_ JF/8 9= L(MY) ,m.Lu < F/8 9= 1(my) | ,m.ow <
| zd a2
| JF/€ 9= LMY | ] JF/E 9= 1(MY) |
_ 7 0—.L(+ZON) W 7 L0—.L(¥ZON)
_ /8 91 (M) 7 «6=.L010) /89— L (M) W 7 «6=L040)
| 5 I | «.2/L L—.6
_ F/8 9= 1(MY) 9__"n_u /€ 9= L (MY) | J_"n_u 2 w N
| il e E i -
| H/8 9-a(my) ||[H2 /2 9= () W g v/e 9—8(my) || O
_ u lm ‘ . ‘ i
||||||||| R I _ _
_ +/2 9= () «0—L(¥ZOW) P/T 9= ) W «0—.L(¥Z0NW) /1 8—8(MY) “ _|
_ | ‘ <
_ /89— L(MY) L F/8 9= L(MY) | 9 - oi—s(my) |l v
T 1T O |
_ F/€ 9—,1(MY) \mm = F/€ 9—.1(MY) W \mm/ ] 2 2/ Lie8(m) “
_ E5 = (== u ‘ . |
=
_ /e s-ama) ||] | /e s=som | | o -5 |
IIIIIIIII e - .0-.L(+2Z0NW) W - .0-.L(+ZON) . o | o
_ WS/ 9=, 1(MY) 7 WK/ 9= 1(MY) | 7 0 L—.(my) | !
lr" 7 r" T “ ‘ AN
| Ok Ik 7 ,,
! /8 9= Yo, | | (] /2 S ok || (] o /L Li—8(y) | |
_ a8 @ _ ‘ . ! 5
| F/€ 9—,1(MY) = F/€ 91 (my) | = © | H m
_ | M LO1—8(My) , G o
IIIIIIIIIIIIIIIIIIIIIIIIIII _ .6—.L(0) _ | .6—.L(30) ,
| /e 9m1(m) #/2 9= () | 2/L 8-8my) | — |
_ | 7 .0~ L(¥ZON) (1] 7 0~ .L(¥ZON) ‘ . ,
_ Fullz i Eullz R o
_ /€ 9= (M) ||[5F0 /2 9= L(MY) [0 F/8 9-8(MY) | -
| ol | | K 1= | ,? \\\\\\\ 5
_ F/E 9=, L(MY) M/nHw JF/E 9— L(MY) W Mm\ g . <t o
| il I 2 n
||||||||| “||||||||||||||||| o S/ 9— 1 (MY) 0—.L(+ZONW) WF/8 9— L (MY) W 0—.L(¥ZONW) @
| /29— 1(my) I 7 /8 a—a(my) ||| 7 «9—.8
_ i
T S
_ H/8 91y |||ISFR = = W/ 9— L (MY) W SES =
il T e
_ k= k3 @ =5 -
_ /€ 09— L(MY) 7 0~ .L(¥ZOW) /89— 1(MY) | «0—.L(FZTIN)
IIIIIIIII _IIIIIII I .6—.L(%0Q) _| | .6—..(Q) O
| JF/8 9= L(MY) 7 A_M /89— 1 (MY) W 7 —
_ N o | el
n5 _ 1“ ) F/E 9=, L(MY) .n_uvaw = v /S 9= L(MY) W ‘n_uvow = A_M >
P | z| 2| % z EH L1 z 15 v 5
o _ o A 5 /89— 1(my) 7 5 J/8 9— 1 (my) | 7 °
2 N 1 T . n < — %) |_ n 7 L
G | S ] G| /e o-aow) 7 <07 L(veom Lf. | ) 7 SR _ | =
N _ ~ H M ] ..nU M (1 ”nU m ~
a a I I
- _ o D| m w F/€ 9=, 1(MY) J_n_v B ! w F/E 9= 1(MY) W o__n_v L1 | S M
w _ m N - / :mwm _|__ = / :mm@ ,ﬁ 8l =
_ = F7¢ 9—1(my) ||[HE = F/€ 90— 1(my) |[IHE o x
: | L 00 g il e — il ). :
s} _ M o 2 00 2 | .8 ~
,n_u IIIIIIIII _ IIIIIIIIIIIIIIIIII ,n_u < — Tl /9 9 .0— L(¥ZOW) O ~ N O | <{ I~ 8
© ) o =) o | -
0 _ — o W /e 9= 1(m) 27 R ! O /e 9-(my) W 27 ! =
r _ Y S Mn_v o | Mn_v o
_ @ S/ 9—,1(MY) \mm < — J/€ 9 1(MY) | \mmf < R °
| T i || T
=~ O =~ @)
NE _ = /89—, L(MY) 7 .0—.L(¥ZOW) —| o /€ 9= L(MY) W .0—.L(¥ZON) N o
AN N [ 2 = 6—.£(%0) i s .6—.L(%Q)
—0 | —O ~ ~ | %)
9N | 9N S/ 9—,1(MY) 7 WS/ 9, 1(MY) | 7
=< & | < ¢ e G
, @ _ , @ S/8 9=, L(MY) oo | | < WF/€ 9=, L(MY) W ol | | < - — -
.2 .m/_ m) @ ) «I ¢
VW _ VW J/2 99— 1(MY) e F/€ 99— L(my) W & m b
<O o ___ e e | . N
=S | a /e o—.1(m) 7 0~ L(¥ZON) /89—, 1(My) W 7 0~ £(520N) v/5 9—.8(My) ‘q O
_ u u ‘ . |
L "
_ v/¢ 9—.1(my) [[[Mo v/¢ 9—.1(my) ||[Mo | —
“ ‘ _ “ ‘ _ -
_ mmw = | mmv/ =] «2/1 8—.8(MY) “
_ JF/8 9= L(MY) M/nHw JF/E 9= L(MY) W Mm\ - ol—amy) | A_M
“ ] 7 0—.L(¥ZON) T 0—.L(¥ZON) % “ v
IIIIIIIIIIIII ._.IIIIIIIIIIII - F/€ 9= (M) 6-.(%Q) F/€ 9= (M) W 6-.(%Q) Z Z/L LL—8(m) |
| s ‘
_ JF/€ 9= 1(MY) 27 /€ 9= 1(my) | 27 a = s() “ P
| SN I & w | .
_ H/2 - ||IJS | | T /2 9w |l IR P L=B(m) B
_ 5 W 5 ﬂ ,, I
| S/ 9— 1(MY) WF/S 9— L(MY) 2 _ <
I H .0—.L(#2ONW) W H .0—.L(¥2ON) n_U AR ﬂ _| m
| F/E 9=, L(MY) 7 S/ 9- L (MY) | 7 o) | _|_| —
_ L (L1 M «O1—8(M¥) ,
_ /€ 9—,L(MY) 44 | /€ 9—,L(MY) | 9__n_u | !
| “ ‘ olw | | " ‘ o] | | ] 2/1 8—8(my) || o
@] <L =<2 |
_ =< =< —
_ /s omaom | /5 9= || ] /2 9-am) || o
| ||||||||||||ﬁ ||||||||||||| .V\n 9— —.QSN_V =O|.NA¢NOEV .V\ﬂ 9— —.ABMV W :O|.NA.¢NO§V e 3 o
| S o . u o
| H H 2 e
_ J/€ 9=, L(MY) J_n_u F/€ 9—,1(My) W J_n_u
| ol | | [ el | _
_ F/E9—, L(MY) m/nHw F/E 9— L(MY) ” mm\ 2/b 16
| | Lo-.cthzon W .o-.ctzom)
||||||||||||| bttt 4/ o (M) - 200) /5 9= L(Ma) | - 1030)
I
_ F/8 9= (my) |l 7 JF/8 9=, L(MY) W I 7
Al A
_ F/ 9—, L(MY) mm < B/ 9=, L(MY) W mmw <
_ = =53
_ _ _ _ 4/8 9—. L(MY) ,0—.£(ZLWD) _ J/8 9— 1 (MY) | ,0—.£(ZLWD)
, u /% 9-8(N0) s /€ 9-8(N0)
~ . T ~
— V_m — :@lhw :@law
=
T L
=< O
=
.2 Lol
N
~ |_
|— <C —
.2/l 6 —= .Z/L 6




/
™
J
™
J
™
y,
~
J

41vd Ad d04 d4NSSI SLNIAd "ONVW3Q_NOdN G3N¥NL3¥ 38 ISNW S3Id0D ¢ JO1LUD 6££8-1172-008 :2uoyd
Zz/1/ v [[tval[ NOLONuLSNoD 1Y N Nannd0 Sl Souniorinen oM 10: Cee /¢ ON  PAOIUDG e SO

AN LONYLSNOD OL d3Sn 38 1ON AV SONIMVHd

3STHL "ALIGIHONd ATIONMLS SI SNOSY3d QIZIMOHLNYNN : Z O _\_r<Q Ol_ L0Z d)NS "peoy abpug quodloH 00EE
OL SONIMVYA 3SIHL 40 3¥NSOTOSIA IHL “LI43N3E
SL Y04 3sn 38 ATNO AVA SONIMYMA 3S3HL NI swajsAg bBuipjing ooy

J3INIVINOOD NOILYWHOANI TVIINIAIANOD ANV ‘a3OFTIAIMA VA VA
‘ANILISNIS “YIMNLOVANNYA ONIQTINE FHL 40 ALY3Id0Odd @ - w O m _\ O m
JAISNTIOX3 ANV F10S IHL JdV SONIMVHA 3STHL

NOILVYWHOANI AdV131dd0dd ANV IVILN3dIANOD \_IQM_ TOW_ mH_

J \ J \ J \ J/

DWG #22-43050—CL1

\

7~

Am_ao._m zL 2/ [ 3401S Z1 ¢ N\_v

_
Amao._m zZL 22/ _ [ 3d01S z!L N\_v
_

P
NOISNANIQ 1341S ,0—.,0¢ S
o
wn
Z =
NOISN3IWIQ 1331S ,0—.0¢ Avg ,0—.01 Ave 0—.0¢ 93
=
€ 5
Ave 0—.01 Ave ,0—.0¢ - —— —t —— — — - LA <
:Olnm :Olnm :Olnm nnOlnm :Olnm nnOlnm _m_LLC
NEA“n_
2 3 2 n
- - — oo . — RN A NS Sl
:o nm :O am :o nm :O am :o nm :O am V - V £ V B V = V - V N%D
1) = — = 0 L
Ay e e IR e
. v 2oy R oy By ooy Ry Lo
iy + X< X Q X < X T X PN
> A e d gd g be g gk
" Y/€ L1.41(08) F/€ L-1(08) " L=8(¥0) __uL=8(0)
| | f U= | ! ! U f i Y !
Qo , S .8/L 9-8(r0) _ , . .8/L 9-8(r0)
o m N N
R a < e . ) > | _ | , > .
n_U = A_U o - 7 ! 7 - o
-~ - - M - N - - - - ’_ ‘_I - 7 - \—uml\ - - 7 - ‘_I ’_
© &) o 0 N , I , i~ 00
<+ < 5 | % P
- - ! 8/L 9-8(rq) =| F kS % 1S.8/0 o-8(ra)
o m# : ﬁm ] L= 8(0) = — = |||"|_T(|||+"z|||"J|I|4 —— = WL=8(0)
Q F/8 £=p1(08) F/ele—p1(08) ! Q /. 9-8(r0) = B N g N =! N Y. T8/7 o=a(rQ)
~—~ N “* ¢ 4 _ - _ Ll 4 “* ¢
- s - N 00 - — - ~N
P o r : . ] 2| T80 > :
_ , > , , _ Y - 2 S o S, 0 h ©
R S R - - 4 - —t - R | T S TR 13 | - _ |
@) 5 o 0 N (7 |~ e L N 0
¥ ¥ S %0 , 5
w1 , , , » 4 8/L 9-8(r0) = | , g , , .8/t 9-8(ra)
! \m; ﬁm = | L= 8(0) —— =~ IIIHITIII e e . e i
SF| /e e-wi(08) /€| e—v1(08) 2 8/ 9—8(rd) = | > = S = N 2 7o)
~—~ N “* ¢ 4 _ -~ _ - 4 “ .
5 | nw | | 5 . > ,4: | 1 | | - .
_ @ _ T e 2 3 o ) -3 c <
- - gl N - - - - - ! I I IR 3 ) -
o o 3 = - 3 1L e
= . = 4 - ® 5 L dAL | ola | 2 ©
+ - ! 00
N o x =)
> " 4 8/¢ 9-8(ra) ~| Aﬁ.ol.m _u o) W % o 8/, 9-8(rq)
ot WL ! ﬁm = | L=8(0) ——mx——— L e O B WAL -(( O
B F/8 £-71(08) F/¢ £-1(08) 2 /L -8 %, | > ﬂ_ > - > N Y/
~ ~— “* ¢ 4 _ -~ _ - 4 “ .
< "6 E: P » R_u x| T 2 R_u ) H
? ! i 2 1N S SR i
R - Ay - - 4 - — - R K T i o I | < T K
© . dAL & ) © @ X <7 |7 = (7 5 ®
N — N o _W.u/ | (a]
WJ ' 0=.S , , ﬁW | 8/L 9-8(rQ) =| , I3 , , |8/t 9-s8(c@)
ol —2 Qe L=8W0) i ———mg——— b ——— - —— g —— st ——— 1 -8(0)
\/n_ _ 2 _ _.\/ 1 ] Q = N 2 N u
9 F/€ £-71(08) o /< €= r1(08) Q 8/L 9-.8(rd) - > ﬂ_ > h N - .8/7 9-.8(r)
- - “ ¢ < | — | — < ¢ ¢
2 | 3 e | 2 . > | )| - | ®| » .
@} | 0 o N < N < !
_ elits - ~_all i - - il _ T T2 % & 2 <
L = : - _ 3 - S 3| X .
| S ~ ~— fn(.u\ ~
o - o) . © 0 N , 1l , = ©
R < = |2 =z
- 1™ | 8/t 9-8(r) =) F I3 % 1=.8/0 o-8(q)
SR : e L=8(F) | ——mx——— b ———hi——————— =T ———m -8+
N _ lo | 1Y I U N 2 _ N 2 N u
9 F/€ £-p1(08) J/€'e=-p1(08) 9 8/ 9-.8(rd) - N ﬂ_ S i N - .8/7 9-.8(r)
~ ~ “ ¢ < | — | — < ¢ ¢
: "e : : - i £ TR i » :
o A < o - 3 3 o 3 L - =
R R B + - - — - R N T - \J.‘H“\u’m = Mw” - T N
= : g = © B = N = = X ©
N NG 8 |2 | =)
i , | | ne 4 8/¢ 9-8(ra) ~| , 1S , , | Lu8/L 9-.8(rQ)
S R L=8(F) | ——mg——— o ———m——— 4~ ——=F——— .-8(+0)
)l_ — _ _|\/ ‘ u N 2 N 2 o~ ul
3 F/€ £—v1(08) Jv/€|e—v1(08) Q 8/. 9-8(") - > - > - AN 8/ 9-.8(rd)
[y ~—~ “ ¢ < ] _ — | ~— <+ ¢ ¢ N
- H - N - ~— - N
5 | o | | 5 . o ,4: ®, _ | ol » .
_ > _ (@] - 0| M o M 0 - (@]
: ey , | - | L - S RSt 110 i
- o P P T ~ - = = T p
pd - . = ‘. - = n_u e 0 = , N , = 0 b _
o o o a 2 a ©) =
al o Wq_ _.W 4 %) _ — 7 8/, 9-8(rQ) ~| _u o —«8/L 9-8(rq) %) D| o
= N £ _ M N N prd =z N [-8(#0) ———mt——— —p — — — mp— — — —— — — — = — — — {u - <& z _
= wAm S | | s | wAm e D| Il e M 2 80r0) u g E T < Qi g £09) wAm = E
S| o Q /€ £-71(08) /g 'e=v1(08) S 5 = = S &L -8 5, S <l < - N /A ) = = —
o s : o s | s e w ° - - - i Y TR P » | q - D :
_ n_u n_u ! m_u o 1 ~ | o o - w 3 ' 3 w0 - o| © 1 .
L] T R e e o o B o= g2 R I A R S 1 (=
N ) - S : . .
n - : M : - - n _ n — T [ T — n —
N ™| ” o _mm [ g -
2 o m | | | | ™ 7 2 o 2 B 8/¢ 9-8(ra) ~| , _u , , o —«8/L 9-8(rq) ol 3 |
o ~— x| 3._ _|3 3 ! — o o — L—.8(¥2) - = 1—.8(#2) — o M
I ~ N |_ _u N | — | «lT ™ z N 2 N B ™ L |
; ol /g £-w1(08) v/5|e—v1(08) ) B B : ~ 5 < - N - N . Il v
2 8 “ ‘ “ ‘ 8 9 o 2 8/t 9-8(rQ) =, S - = < S 2, «8/L 9-.8(r0) S A_M
— ® ! © ! ! 3 — O — - - o ,8_ T o/ ol > R — -
o _ o - o < . T : P | ®
. pa S o o S 2 =
.,_ — — NHN — -+ — — — .._ _l_l (%) .,_ ‘_I — mi \\/l\.“unl\‘w,\%’(‘ mi — | .,_ o
= , g , o © Al S T < B ® L
N N 3 . 5 @
R D) | 8/L 9-8(00) Z| F 3 % T8/ 9-8(ra)
sl , e L=8(FO) i — S o — = ——— ]  WL-8(+0)
ol /e =i /5 !e—p1(08) | hs 1 u N b= N b= N .
8 “ ‘ olo “ ‘ &8 8/L 9-8(ra) =, - <l > < > 2, «8/L 9-8(rq)
2 % 5 . > ® wl - ) © - .
o 9 | o o - ,a 3! ' S 0 - o
R - | I + — 4 - - R 1 T B e S - T 1
= g = 0 N N T < = B ©
N 3 z 33 , S
a , , , e 4 .8/t 9-8(0a) ~| , IS , , a8/ 9-.8(rQ)
~—R S AL=8(O) Mmoo R T WLm8(0)
)h_ - — _l) ‘ (8] N B N 2 N 3]
3 /8 £— 4 (08) F/8| 8- 41(08) 9 8/ 9—8(rd) - > i I~ ha N : .8/7 9-.8(r)
— - “ ¢ < | . — | — < ¢ ¢
2 ! ! & ! ! 2 . N %o | wl o Y o] > .
(@] | (@] @) - < V_.._ < .._ @)
_ (o][Te} y MO _ han 2 o o O .o} -
- - - - \MI - - - - _ —_I - mi B N ] < ~T— 47 - | _
o & o 0 ~ S ,Q_m\ e ~ 0
— s — = | - | T
NI =+ o =)
5| > ! 8/ 9-8(q) =) < % =8/t 9-58(00)
SR o L=8(F0) p———mx———————p———————=sr——— [-8())
Sk ! -y lo— ! I A u N pay Q 3 N u
3 J/8 €—1(08) F/¢'e=71(08) 9 8/ 9—8(rd) - > b I~ s N . 8/Z 9-.8(rd)
— - “ ¢ < | — | — < ¢ ¢
2 : s Y ® % ol e % S
= v [= > " ) 2 ST 2 i " 5
- — © () » O o] -
R - — - P 2 — 4 - - R _ T - - P iAﬁ = o — T _
O ] O 0 ~ e ,g_@ e N 0
~— = 2 ~ T i T
N N a a
R , , , , > | 8/L 9-8(0) Z| , , m\_ , , =8/t 9-8(c0)
SR e L=80) —— g TR g = { WLm8(0)
U _ _ UL 1 U N 2 2 N u
Q ¥/€ €=1(08) y/¢€-¥1(08) 9 8/ 9—8(rd) - > pa > < S . .8/Z 9-.8(rd)
— - “ ¢ < | . — | — < “ ¢
x , , o , , 2 . » | EY Qe | ® = R
o |1 o o — 0 S 1_,9 3 0 - @)
! - - - 1 —— - - N K I e S SN N
© ) ° e N N ,g_@ = N ®
s s T M./ T
N N a a
= > ! 8/L 9-8(0@) | < % T u8/2 9-8(c)
SR I peR— LmBWO) A ———mt——— b ———h L/ 8(0)
Sk ! -y lo— ! U A u N - T = N u
Q F/€ €-71(08) ¥/€'e-71(08) 9 8/ 9—8(ra) - > b < - AN . .8/Z 9-.8(rd)
- - “ ¢ < | o= | — < “ ¢
- 3 . N - | — - ~
o i > X | U S R ? :
8 = Ly ) o o X pa
R - — - P 2 — 4 - - R | T -5 - F = T | - " 1
S : = : S © 5 TaAL | fley” - 2 ©
N N ) - |8 g
o , , , , 7o 4 B/, 9-8(rQ) ~| 0-S | v _ , , o _«8/L 9-8(rq)
0 S E— L=8(50) e —— =g ——— SERRRy el % bbbt INPVASICCO
)h_ —_ — _l) ‘ u N 2 N 2 o~ ul
Q ¥/€ €-¥1(08) v/¢€-¥1(08) Q /L 9-.8(rd) - > s > b S . .8/Z 9-.8(rd)
8 a8 . . . : e _ > 5 .
2 | | E | | = - » | | 2___| Y o] > .
T X T 3 = B 3 s F 0w = ?
. - - - = . - - ! ! -3 | 3 3 T |
o H.M , mu o 00 ..\7/ /\, , .g_( , /\, |\7/ 00
o s < | o T I 3| T
O (=)
- - 8/, 9-8(rQ) ~ % % ~ % % ~ .8/, 9-.8(rd)
I — [l - | | I ; 1 o I
> F/€ L—x1(08) F/€ L+ 1(08) 5 o= 8(¥0) o N LR RN N DN N «L=8(¥0)
= = S S S TS S TS T2
£ ®
S R - S
X 2 X TX 2 X T X2 X
(&) < (&) (&) < (&) (&) <+ &
sAvg ,0-5l (2)
NOISN3IWIQ 1331S ,0—.0¢ - -
SAve .0-.SL (2)

NOISNIWIQ 1341LS .0—.0%

Sheet
S of 8




150°—0" STEEL DIMENSION

(15) 10°—0" BAYS

30'—0" STEEL DIMENSION

<1/2 : 12 SLOPE |

~O0OF PLAN

scale—1/8"=1-0"

(6 ) (7 ) (15 (7 ) (6 )
(L5 5 ) 5 5 5
Sy 8070 8070 8070 8070 L~ 8070 8070 8070 8070 8070 8070 L ~¢ 8070 8070 8070 8070 8070 —
= rae s rae " rae " “FPne—5 rae—s rae— rae— rme— rae— “Pne—5 roe-—5 roe-—5 roe-5 roe—5 o
&
14 12 -
) . 55 3 z
M @Me—10” (3)(ML)9’=10" (3)(ML)9’=10" (3)(ML)9’-10" (3)(ML)9’-10" @mye-10" L BMye-10” (3)(ML)9'=10" (3)(ML)9'=10" BM-6" ¢ '\ O
U) i L L L L {' A * ’ » N ’ ” vy b ) T ’ E) * ’ » b ’ Ih b ’ » b ’ 1] b ? » ] » ] "n' Z
> ) I (PAYE—10 (PA)8'—10 (PA)8'—10 (PA)8'—10 (PA)8'—10 (PAB—107 (PA)8'—10 (PA)E—10 (PA)B'—10"|(PAY8'— 10" (PA)B' — 10 I 5
o =
G > :
© MLA9'-0 172" ene—o 1/7T¢  (Pag'-0 1/2" (PA)9'=0 1/2" (Pa9'=0 1/27T | | | | | | | | | | _|
R N (3)(ML)9'—6" (3)(ML)9’—10" N7 (3)(ML)9’'—10” (3)(MLY9'-10" (GY(MD'—10" A H
= 13) e | zl
S (I J J J (I L L A A A N A A A A N 2 o
~ AN . ~NK . . . . . NN . . . . " q ClD i
ﬁi i i i it I TR i i 7 7 ) I Tom 7 7 7 '9 o 3
o) % 2 % sl 6w % 7 2 2 ol G 2 2 2 &) S
4 : = : : : : : : : : : : : : |
D ) D D D D © D) D) D) D) D) D) D)
N PA)8'—5" (PA)8'—5" (PA)8'—5" (PA)8’—5" (PA)8'—5" (PA)B'—5" (PA)B’—5" (Payg'—5" B (PA)B'—5" (PA)8’—5" (PA)8'—5" (PA)8'—5" (PA)8'—5" (PA)8'-5" _ ‘
(3 T15 X I 13 3 13 X R T1 5 T1 5 R T1 3 T1 5 T1 5 T3 )]
S~ 8070 8070 8070 8070 pre 8070 8070 8070 8070 8070 8070 Z 8070 8070 8070 8070 8070 <
(6 ) (7 ) (7 ) (6 )
5 J 5 ) 5 J 5 )
(15) 10°=0" BAYS
B 150°—0" STEEL DIMENSION N
scale—-—1/8" = 1-0"
B 150'—0" STEEL DIMENSION N
(15) 10'=0" BAYS
(16 )
(EC)19'=11 7/8" (EC)19°-11 7/8” (EC)19°=11 7/8" (EC)19'=11 7/8" (EC)19'=11 7/8" (EC)19'-11 7/8" (EC)19'=11 7/8" (EC)9'—11 7/8"
f —t f f f f f — f — f f f — ]
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
(P4)20'-8! ! (P4)20'-8! ! (P4)20'-8! ! (P4)20'-8! ! (P4)20'-8! ! (P4)20'-8! ! (P4)20'-8! | (pey10-s”
E | | | | | | | | | | | | | | 5
bl n | | PURLIN LAP | | PURLIN LAP | | PURLIN LAP | | PURLIN LAP | | PURLIN LAP | | PURLIN LAP | | PURLIN LAP n =z
o = | | | | | | | | | | | | | | = o
0 3 (P4)20°—8 é (P4)20°—8)) é (P4)20'—8)) é (P4)20'-8]| é (P4)20'-8]| é (P4)20'-8'| é (P4)20'-8'| é (P4)10'—8" 3 N
- ) | | | | | | | | | | | | | | -
o 177 | | | | | | | | | | | | | | 177 a
4 (P4)20'—8" | (P4)20'—8" | (P4)20'—&" | (P4)20’ 8" | (P4)20’'—8" | (P4)20’ 8" | (P4)20’ 8" | (pa)10-8 4
E | | | | | | | | | | | | | | E
% I | I &2 A | I | I | I Y jea | %
- ’ ” ’ ” 7 1 ” 7 ’ ” ’ ” ’ ” 7 ’ ” 7 -
A (P4)20'—8] (P4)20'—8] (P4)20'—8] (P4)20’ -8 (P4)20’ -8 (P4)20’ 8] (P4)20’ 8] (P4)10'-8 5
] . | == | == | == | == | == | == | == : ‘
) - ! | ! | | ! ! ! | ! | | | ! A o
M = | | | 7 J | 7 J | | | | | | | 7 J | 7 J | | = M
3 (P4)20"—8" | (P4)20"—8" | (P4)20'—8" | (P4)20"—8 | (P4)20'—8! | (P4)20'-8 | (P4)20'-81 | (P4)10'-8 3
| i | i | i | i | i | i | i
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
} t } t } t } — } t } t } —t— \
(EC)19'—11 7/8" (EC)19'—11 7/8" (EC)19'—11 7/8” (EC)19°—11 7/8" @ (EC)19°—11 7/8” (EC)19'—11 7/8" (EC)19'—11 7/8" (EC)9'—11 7/8"
(15) 10°—0” BAYS
150'=0" STEEL DIMENSION

<1/2 . 12 SLOPE |

11,/7 /22

DATE

J

AJ

B

BY

CONSTRUCTION

ISSUED FOR

PRINTS

\,

CONFIDENTIAL AND PROPRIETARY INFORMATION

THESE DRAWINGS ARE THE SOLE AND EXCLUSIVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,

DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE
PROJECTS WITHOUT WRITTEN PERMISSION FROM THE

BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS STRICTLY PROHIBITED. THESE

PRIVILEGED, AND CONFIDENTIAL INFORMATION CONTAINED
IN THESE DRAWINGS MAY ONLY BE USED FOR ITS

BUILDING MANUFACTURER. THIS DOCUMENT AND ALL

J/

COPIES MUST BE RETURNED UPON DEMAND.

\,

QN
O M)
| N
00 N
=10
@, OQ

|_|—| -
—1O|=|=

Sl
Diﬁo ;
ol <] <
XJ O
Y
O -
N O
)

o

(q\]

n 2

E:(\I
8?3
28>
O @ ®
N 35—
oo =
c o
=T 38
'5:_(.')00
=90 5
S 0 0 c
mEgQGS
0885
952

<I

o

o

(4p)

(4p)

J/

DWG #22-43050—CL1

7~

Sheet

N\

4 of 8




| SLAB DIM. _
N
11/2 | | STEEL DIM. _
j 9 1/2”
|
A T A
= I
o I -
=| - I T
A [ =
°l I L]
S |
3 (. '
!

! i . ~L-&
ﬁ Aq ) a “ Aa -
/\/\ 4 ) a

J!
1 DOOR EDGE SLAB NOTCH
9 1/2" X ] 1/2” NOTCH
STEEL DIM. »‘_ STEEL DIM.
/4 A
(C) COLUMN -—
(BC) BASE CHANNEL — (PL) =
PARTITION N
(F2) #12 X 1” SD PANEL %
(4) PER COLUMN \
tey 1 FF.
N ’ 4 < 4 . a 4 4¢7

(F1) CONC. ANCHOR _/

6” FROM EACH END
AND 36" O.C.

COLUMN FLOOR BASE CHANNEL

D

SLAB DIM.
ﬂ —
11/27 aEn STEEL DIM. _
Y A
I
[l |
- [ .
™ I L
= Il 3
o 1
Y T 1 .
L [ 1 o
o 4, 4 )
; ; ” . 4 AA >
><2Q/“A c e, :
N L
/<// - -
;syx\ PR
— J
22 WALL EDGE SLAB NOTCH
1 1/2” X 1 1/2” NOTCH
PANEL

ROLL—UP DOOR ABOVE

(C) COLUMN

(F2) #12 X 1" SD —

\

CONC. STEP BELOW \

el
=
_—
=
>
—
—

BASE ANGLE BFELOW
_/

STEEL DIM.

(F7) #12 X 1 1/4” SD

24” O.C.

SLAB EDGE BELOU
(CM) CORNER

I\— (OU) OUTSIDE

MULLION COVER CORNER TRIM
(DJ) DOOR JAMB (F7) #12 X 1
| 24” 0.C.
D.0O. WIDTH 1'=0"
STEEL DIM.
DOOR JAMB — 12”7 CORNER

1/4” SD

o

SLAB DIM.
—
11/2" | STEEL DIM.
] —
| J I
o (MC) MULLION ——=—| (DJ) DOOR JAMB
> COVER _
5= ) T
L .
S|2 (F2) #12 X 17 SD — N =
o | T (4) PER COLUMN ~ 5
S -
)
(BC) BASE ! ___1%955.
! CHANNEL | o7

(F1) CONC. ANCHOR —
(2) PER (BC)

DOOR EDGE BASE

5

(ML) PARTITION PANEL

ROLL—-UP DOOR ABOVE
(PA) PARTITION ANGLE

(F2) #12 X 1”.SD

/

\

ROLL—UP DOOR ABOVE ‘

CONC. STEP BELOW

\

STEEL DIM.

1

©

; @
|
|
|
|

SLAB EDGE BELOW "
(0 DOOR e/ / \o(F7) #12 X 1 1/47 5D
() [coLumN 24" O.C.

(DJ) DOOR JAMB (MC) MULLION COVER
D.O. WIDTH 1’=0" 1'-0" D.O. WIDTH
—— —
STEEL DIM. STEEL DIM.
—— — —

ERECTOR NOTE:

BASE CHANNEL IS 1/4” SHORTER THAN MULLION.
CENTER BASE CHANNEL ON CENTERLINE OF BAY.

24" DOOR MULLION

.

ﬁ SLAB DIM.

—
11/27 | STEEL DIM.
— ] —

ke |
: <J|r— (C) COLUMN

(RW) WALL PANEL —= : : E
L N N

(BA) BASE ANGLE — : : ~ =
] -

(F2) #12 X 17 SD y |

(2) PER COLUMN
(CLIN) INSIDE CLOSURE

(F1) CONC. ANCHOR —
6” FROM EACH END
AND 36” 0O.C.

1 1 4¢E.F.

DA

WALL EDGE BASE ANGLE

4

== .
Ndn =
=0
1. &
LJ < Lol
(PA) PARTITION ANGLE 2 5 >
_ ‘_\\ L IC AN T @
/ > ) ‘
(ML) PARTITION PANEL =
(F2) #12 X 17 SD _
Lol
(C) COLUMN — %
P
_ STEEL DIM. | \— (RW) WALL PANEL

WALL WITH PARTITION

3

11,/7/22

DATE

J

Ad

B

BY

CONSTRUCTION
PRINTS ISSUED FOR

\

CONFIDENTIAL AND PROPRIETARY INFORMATION

THESE DRAWINGS ARE THE SOLE AND EXCLUSIVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,
PRIVILEGED, AND CONFIDENTIAL INFORMATION CONTAINED

IN THESE DRAWINGS MAY ONLY BE USED FOR ITS

BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS STRICTLY PROHIBITED. THESE

DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE

PROJECTS WITHOUT WRITTEN PERMISSION FROM THE
BUILDING MANUFACTURER. THIS DOCUMENT AND ALL
COPIES MUST BE RETURNED UPON DEMAND.

J

PROJECT:

50 X

100 x 3—0
NC 27552

LOCATION:

Sanford,

\.

Arco Building Systems
3300 Holcomb Bridge Road. Suite 201
Norcross, Georgia 30092
Phone: 800-241-8339

o

LDWG #22—43050—CL1

e

Sheet

"\

v

5 of 8




N
NI
N5
=
<o
o
O
Z |
9l
ol
o n
@’ @’ @ @’ =
2 wn
o=
STEEL DIM. STEEL DIM. STEEL DIM. STEEL DIM. STEEL DIM. STEEL DIM. STEEL DIM. CZ
— — — —| — —— o — — — g _— o
(RW) WALL PANEL |
| | \. J
A A | A . (ML) PARTITION PANEL | | ( S| €8 4. .. ]
= = = / < S |wEzpofyEd
g ” S nZ= n .- 5
5 5 | o (F4) #12 X 2" SD 5 | (F4) #12 X 2" SD z | JB3B2E53%2
(C) COLUMN - - (F2) #12 X 1” SD o (F2) #12 X 17 SD o Z | 5g30sEE.c8
- nEE0n0oo o
K 7 » <C L.JEQ%'-‘J} EO%
- 5 - H | @35, FEREC
N ' coL o / ! I ¢ | P252ueptet
——- >-—-——{CoL COLf—-f—-——- — - \ i A o | p32858R-7¢
T | ZgESe, Eeh
2) = s s | = ' = I o | £38482 %5,
4 °© a & = (ML) (ML) PARTITION PANEL =| (C) COLUMN (ML) PARTITION PANEL 2 | 5282538557
of | zY O I%%
o) [ - m (N \— (C) COLUMN o PARTITION | " | (F2) #12 X 17 SD 2 |EF28utiEzs
of o Lol Lol L PANEL Lol E |86 .wuFin,=9
=G ~ ~ > ~ (ML) PARTITION PANEL & | urgdetofod
M;@ | (ML) PARTITION PANEL | | o | BE8Fu2s533
v FaszuExXesS
e ' ' | ' ' 5 | Tez=E3582
O oo )
\. S
9 WALL 10 COLUMN CLIP 11 PARTITION CROSSING 19 PARTITION TEE
QN
O M)
| M)
o |
CONTINUOUS MASTIC — | < | <
AT TOP AND BOTTOM O Ol
OF INSIDE CLOSURE L] —
|1 O|= =
OO
IR 5
__ STEEL DIM. O] O
T G
/7)//////} O -
| (RW) WALL PANEL —=+ -~~~ {o+=—ROLL-UP DOOR N 8
@ _ STEEL DM. DETAIL AT CLOSURE
(F2) #12 X 17 SD —— S FAVE A SWALL PUNGH AT ik
STEEL DIM. STEEL DIM. (2) PER LOCATION @ '
- = = — (MC) MINI=CLIP STeel oI 3 1/2”
(RW) WALL PANEL (HE) HEAD TRIM ——= * — (DH) DOOR HEAD - - |
\ I FASTEN HEAD TRIM W/
. | O TEN WALL FANEL ——(F10) 412 x 778" Sb ) J
__ | r
= | = it o (HC) HEAD COVER (CLIN) CLOSURE (BTR) CONT. MASTIC )
o / (F2) #12 X 17 SD = (F7) #12 X 1 1/4” SD (F6) #12 X 1 1/4” ZAC EOFPF/Sm %EgTS%I\IA?E &
L ML ML 4) PER LOCATION T — _ n 2
% PARH%ON)\ | / I(DAR)TITION @ . |(2) PER LOCATION ® CLIP (DY) DOOR JAMB (EEFSR)EA;{/EO(;HQT\H; —— (GS) GUTTER STRAP £35S
J 3 0.C. o
' PANEL \ | PANEL I ~— () GIRT % FASTEN TRIM AT 24" O.C. 0 | | E,g §§
i B — . m /. T.0.S O m®
= IS - _ ULOo. w m ) ‘L
Z |
< | g L \ 2 Q il g, @ g’(v\ll
p— (N A ”» b " — o
o " Sl< (MC) MINI—CLIP S (F2) #12 X 17 SD il 5208
(F2) #12 X 1”7 SD o - =
4 (C) COLUMN S|, a | =0 ;o
L | bl 0N . (GU) GUTTER S 809
n 1T Y cr (F7) #12 X 1 1/4” SD | \ mESJSS
| O |~ Z O = O
. P MINI—CLIP AT (EC) SPLICE | 0353
' Z ; Af IF REQUIRED T (RW) WALL PANEL <z
! : T (C) COLUMN | —- (DK) DOWNSPOUT =
| ™
DWG #22-43050—CL1
13 PARTITION TEE 14 TYPICAL GIRT 15 DOOR HEAD 16 LOW EAVE WITH GUTTER ( < ; )
ee
o of 8




(RA) RAKE ANGLE

STEEL DIM

(F9) #12 X 7/8" ZAK
12” 0.C.

(BTR) CONT. MASTIC
(RRX) ROOF PANEL

/ N\ N

T.O.S;é

(RT) RAKE TRIM
(F10) #12 X 7/8” SD

12" 0.C.

\— (P4) 4” PURLIN

(F2) #12 X 1”7 SD

-]
(CLOUT) CLOSURE : (C) COLUMN
(RW) WALL PANEL ————=+ :
17 RAKE — 47 PURLIN
STEEL DIM STEEL DIM
—- | -
(RRX) ROOF PANEL
T.0.S. /L VarN M~

(P4) 4” PURLINJ
(F2) #12 X 17 SD ——

(C) COLUMN ———

4” PURLIN SIDE

2

STEEL DIM

i}

STEEL DIM

el —

(F6) #12 X 1

1/4” ZAC‘\‘ /(RRX) ROOF PANEL

T.O.S;é - B
(P4) 4” PURLIN —=

(F2) #12 X 17 SD

N

(

+—— (C) COLUMN

RIDGE — 47 PURLIN
13
_ STEEL DM | STEEL DM
' (F6) #12 X 1 1/4” ZAC
| /—(RRX) ROOF PANEL

T'O'S'¢ — :

(P4) 4" PURLIN—/‘

(F2) #12 X 17 SD

—<—(C) COLUMN

4” PURLIN SECTION

27

STEEL DIM STEEL DIM
—} —
<—8" A RRX) ROOF PANEL
(MIN) (RRX)
|
T.0.S. SN N\ /L
————— RS
A Lyl o N
| \
(P4) 4 PURI_IN/ : : (P4) 4" PURLIN
(F2) #12 X 17 sSD— || |
(C) COLUMN —:* :
o
L

4” PURLIN LAP SIDE

19

STEEL DIM. STEEL DIM.
—t T— —
|
J A
(C) COLUMN — |
(PL) T
(F2) #12 X 17 SD — PANEL =
(2) PER COLUMN -
_____ _Y_Aéf.l-_.
< < 5 A
< Lo AT et

<

(F1) CONC. ANCHOR /

6” FROM EACH END
AND 367 O.C.

COLUMN FLOOR BASE ANGLE

25

STEEL DIM

—}

oo | oot —

STEEL DIM

(F6) #12 X 1 1/4" ZAC
/—(RRX) ROOF PANEL
14

T.o.% T

(P4) 4” PURLIN
(P4) 4” PURLIN

(F2) #12 X 17 SD

~~—— (C) COLUMN

4" PURLIN LAP SECTION

20

1/7/22

DATE

AJ

B

BY

CONSTRUCTION
PRINTS ISSUED FOR

.

CONFIDENTIAL AND PROPRIETARY INFORMATION

THESE DRAWINGS ARE THE SOLE AND EXCLUSIVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,
PRIVILEGED, AND CONFIDENTIAL INFORMATION CONTAINED

BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS STRICTLY PROHIBITED. THESE

DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE

PROJECTS WITHOUT WRITTEN PERMISSION FROM THE

IN THESE DRAWINGS MAY ONLY BE USED FOR ITS

BUILDING MANUFACTURER. THIS DOCUMENT AND ALL

COPIES MUST BE RETURNED UPON DEMAND.

J

PROJECT:

50 X

150 x 8—0

LOCATION:

NC 27532

Sanford,

\

Arco Building Systems
3300 Holcomb Bridge Road. Suite 201
Norcross, Georgia 30092

Phone: 800-241-8339

J

DWG #22—43050—CL1

7

Sheet

N\

/ of 3




(BTR) CONT. MASTIC
@ PANEL LAP

(BTR) CONT. MASTIC
@ PANEL LAP

3'—0" COVERAGE

R—PANEL ROOF

FAVE AND RIDGE FASTENING

3'—0" COVERAGE

R—PANEL ROOF
PURLIN FASTENING

(F9) #12 X 7/8” WASHER ZAC
20" 0.C. MAX

(F6) #12 X 1 1/4” WASHER ZAC

(6) PER EAVE/RIDGE — PER SHEET

KRE\/A\UNG WINDS

INTERIOR

ROOF PANEL LAP DETAIL
\\\ VIEW AT LOW EAVE

(F9) #12 X 7/8” WASHER ZAC
20” 0.C. MAX

(F6) #12 X 1 1/4” WASHER ZAC
(3) PER PURLIN — PER SHEET

(F8) #12 X 7/8" WASHER TEK? >|< >|<

20" 0.C. MAX

(F8) #12 X 7/8" WASHER TEK;Y >l< >l<

20" 0.C. MAX

INTERIOR

~

PANEL LAP DETAIL

L 3’—0" COVERAGE

R—PANEL WALL

FAVE AND BASE FASTENING

L 3’—0" COVERAGE

R—PANEL WALL

GIRT AND DOOR HEAD FASTENING

(F5) #12 X 1 1/4” WASHER TEK
(3) PER GIRT — PER SHEET

ERECTOR NOTE:

PARTITION PANELS HAVE BEEN
SUPPLIED TO THE APPROXIMATE
ROOF LINE. NOTCH TOP
PARTITION PANEL TO MATCH
ROOF LINE AND CLEAR PURLIN
LEG AS NEEDED TO CLOSE IN
THE UNIT. PARTITION PANELS
MAY BE BACK LAPPED TO
CLEAR PURLINS.

(F5) #12 X 1 1/4” WASHER TEK
(3) PER GIRT — PER SHEET

_/—\%_ ,“?_/_\_%,—\ ,—\4?_/—\
P
A A <
(
o il
{ I
O
(
|| = COLUMN
X (
X - (F2) #12 X 17
( SD TEK (PLTD)
o (4) PER COLUMN
K PER SHEET
§ - (
Di F .
I
O ©
i %——(
N
g
- (
'l___ TTe || o
! (
%)

M—LOC PARTITION
SHEET FASTENING LAYOUT

e )
R
L
N
<
\Q
3
<
m
o
O
Z | L
O
=0
=
210
¥
il B0
9 wn
5|F
s
Ol
ne
[l
\. 7
” " )
Z 0
L
b | Y5=2FEXESL
= = — 3 .
= (/)ZZD:U) : no
& | 36302E55%%
8 gnfz EEEEHE
Z '-'Juoancfl—zzo
~ | oEEnoo25Y
> | ZR2°P LS55
<52 ,0%0038
@ Txdil, 285
= | U5 ESegs
a4 EJZ%Qﬁﬂ TZ
S | EoELPBETS
¥ |F2zzxn Ech
o |Weld=p peuo
1 =
O <5“”9£H;E%
z | vD@3233259
O, 0S2PZ2
< Z4Y 200, 259
o | ZFQz,,0xEZ3
x | < a S=<%
= L LI
E |86 uFin,=9
z on Nof Y
L WrwplErzoza
I U)D:(_')Iboguao
T | FudrzEx33°
S L.J'_Dio_
Z FOZZQFND%E
O o <
O oo )

. J
' N
< —

Ej ~ %%

O L) L
i é% -(f
CL T -
< O
y_
O -
\ J
r N
—
o
(q\]
n 2
€35
QO
2388
(op]
FE5¢
P
O o o N
COoo
5288
5P ¢y
S5 0O o c
mESS
08 9P
P53
<:I
o
o
(qp]
(a9

\

J

DWG #22—43050—CL1

7

Sheet

N\

3 of 3




	1 of 8
	Sheets and Views
	Model


	2 of 8
	Sheets and Views
	Model


	3 of 8
	Sheets and Views
	Model
	OLE1



	4 of 8
	Sheets and Views
	Model


	5 of 8
	Sheets and Views
	Model


	6 of 8
	Sheets and Views
	Model


	7 of 8
	Sheets and Views
	Model


	8 of 8
	Sheets and Views
	Model



